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Section A Concepts and skills 150 marks 

Answer all six questions from this section. 
 

Question 1  (25 marks) 

(a) 𝑓𝑓(𝑥𝑥) = 𝑥𝑥2 + 5𝑥𝑥 + 𝑝𝑝 where 𝑥𝑥 ∈ ℝ,  −3 ≤ 𝑝𝑝 ≤ 8, and 𝑝𝑝 ∈ ℤ. 
 

(i) Find the value of 𝑝𝑝 for which 𝑥𝑥 + 3 is a factor of 𝑓𝑓(𝑥𝑥). 

 

          (ii) Find the value of 𝑝𝑝 for which 𝑓𝑓(𝑥𝑥) has roots which differ by 3. 
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         (iii)  Find the two values of 𝑝𝑝 for which the graph of 𝑓𝑓(𝑥𝑥) will not cross the 𝑥𝑥-axis. 
 

 

(b) Find the range of values of 𝑥𝑥 for which |2𝑥𝑥 + 5| − 1 ≤ 0,  where 𝑥𝑥 ∈ ℝ. 

 
  


